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Smile Worksheet 2133

50 squares
are shaded
out of

100 squares.

This is or or
3,
o — o] o —
100 o 100 Yo
3. d
L o o - = o)




Now complete these.

ety

£20 52

100%

10.

65%

Yo




Smile Worksheet 2199

Percentage
Estimation | riemmemeasuer [ | =

} 70% 30%
(or trace and use this one). 80%  40%

Yo

Use your percentage measurer to check these statements.

-

1. Estimate then measure the following percentages.

5

40% of this circle is shaded. 75% of this circle is shaded.

60% is unshaded. 25% is unshaded.

% shaded
Estimate
E % unshaded

T — % shaded
‘:' % unshaded

% shaded

D % unshaded

o
Measurelj % shaded
B % unshaded

Estimate

) % shaded
. D % shaded Estimate % shaded
Estimate with lines
%% unshaded % unshaded
% shaded
_ | % unshaded

Measure % shaded
l:] with lines

% unshaded

2. Use a ruler and pencil to shade in these percentages.

30% 45% 60% 80%

O

9




Smile Worksheet 2143
Percentages of Money

A percentage is a fraction with a denominator of a hundred.

which is the same as 1

50% means 50
2

100

Complete this table.

s | ] | M | B | W

amount

60p

80p

£16

84p 2lp

£1

2128
£5 £l
£1.80 £1.80

£6.20

20p

£1.40

Calculate these percentages.

25% of £2.40 is 75% of 96p is

50% of £3.80 is 25% of £26 is

75% of £5.40 is 100% of £7.57 is




Smile 1572

9

““50% is half marks

' This envelope should contain 21 red
cards and 21 blue cards.

Match the cards in pairs.










Smile 2236

Any country's land use can be split into
4 categories.

Arable — growing food e.g. rice
Pasture — grass to feed animals
Forest — trees

Other — desert, towns, mountains etc.

Norfolk
island

Norfolk Island is a
smalil island off
the east coast of
Australia.

This pie chart shows land use in Norfolk
Island.

Key

25% of the land is used for pasture.

Norfolk Island has a total area of 40km?.

Liechtenstein is a country
in central Europe.

Liechtenstein —

This pie chart shows land
use in Liechtenstein.

Key
—
[ o]

ESy

Liechtenstein has a tota| area of 160km?
What area of land is arable ?

Sierra Leone is a country
in West Africa.

/

Sierra Leone

This pie chart shows land
use in Sierra Leone,

x

ey
5 Arable

[ [ o]

Other

i

Forest

Sierra Leone has a total area of 71 740kmz.
What area of land is arable ?

Portugal is a country in pj L0

southern Europe. Al
Portuga{\i)' . 4 \
120\

This pie chart shows |and
use in Portugal.

It has a total area of 92 390km2,

What area of land is 'other'?



Match each pie chart with its country and

statement.

Key
SN Arable

[ [rom |

Switzerland

The total area of land is 41 290km?.
Arable 10% -
Pasture 39% .
Other  26%
Forest 25%

Panama .

The total area of land is 77 080km?. |
Arable 7% ‘
Pasture 17% ;
Other  25%
Forest 51% |

Togo :,-

The total area of land is 56 790km?.
Arable  25% :
Pasture 4%
Other  47%
Forest 24%

B R R

14 197.5km?of the land is used for arable.

10 322,5km? of the land is used for forest.

T i =

19 270km2 of the land is used for other.

g

Explain why the following statement is

not true.

© RBKC SMILE 1996,



718 s smie

WEGE [BARZINETE

] AM THE MANAGING
DIRECTOR OF A smace FiRM.
! HAVE SIX EMPLOYEES.

‘.&fg/\}) (f | €ARN {6,000 A YEAR,
3

WE ARe THe
UNSKILLED WORKERS.

WE GET {2000 €ACH.

WE ARE THE SkicED

. WORKERS AN WE EACH
€EARN {3,000 A

YEAR
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WHAT Do You 7uwk 7

| WoRk ouT How MmucH EACH
PERSON WoOULD GET IF TieRk
SALARIES WERE INCREASED
g /oY,

2, WORK our How Mucy EAcH
Ferson woulb GeT B8y SHARING
THE ‘{ R/00 EQUALLY BETWEEN

THEM AcLc.

3. WHIH wAy woued you VoTe
IF You WERE () The MAwaG WG DiRecToe

(¢) A SKiL€d woekee 7
why 7

4. WHICH METHOD 2o You  THINK
| MoST PEoPLE VoTED For ?
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